50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 10CS56
Time: 3 hrs.
1 a
b. erte a procedure to conve
equivalent DFA.
{90} {qo. a1}
a | {42} ¢ {q2}
Q@ |49} {qs}
*qs )
(10 Marks)
-8
(08 Marks)
b.
(06 Marks)
C. (06 Marks)
3 a. State pumping lemma for regular languavges” Show that“the following language is not
regular. L = {0."A’is prime number} . . (06 Marks)
b. IfLand M argm‘égtilar languages, show_ hat LNM is also regular (06 Marks)
c: ing'Ta (08 Marks)
D
D
G
F
G
4 a. Define Context Free Grammar. Construct CFG for the following language.
L={000"j>i+k} % (08 Marks)
b. Write leftmost, derivation and construct parse tree for the string ‘aabbbb’ using the grammar
S—> ABle
A —aB
B —>Sb (06 Marks)
€. Define ambiguous grammar. Show that the following language is ambiguous.
S—>SS/SHN) (06 Marks)
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PART - B
5 a. Define push Down Automata. Construct NPDA for ace e ‘tmg the following language.

L = {oo® :o e {a,b}*}
Show all ID’s to process the string ‘baab’
b. Convert the grammar to equivalent PDA.

S —> 0AA
A —0S|1S|0

(14 Marks)

(06 Marks)

6 a. Convert the grammar into GNF.
S—>AA|0

A —>SS|1
b. Eliminate all € production &n

S — ABC 4
A—>BC|a
B > bAC|e
C—o>cABle

(08 Marks)

(06 Marks)
(06 Marks)

(10 Marks)

Multlple Turing Machine

ii) Nondeterministic Turing Machine. (10 Marks)
£ s,

enumerable. \
b. Writeanoteon:~ ¢
1) Recurswé‘ﬁii\nguage

(08 Marks)

(12 Marks)




